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Introduction

11  Objectives
2 F A& Public Transportation System, Recharger System, Fee calculation System& ==
st Autof| CHPE Report EA{O|Ct Test QA =0 LSt Test Caselt Test =2l ZA1}0f
et &= g AUACH

1.2 References

DS-2014SE-PTS-SRS-1.0

T3-2014-PTS-SRA-1.3

T3-2014-PTS-SDS-2.0

T3-2014-PTS-UTP-1.0

Unit test case specification

21

Test case specification identifier
2.11 Public Transportation System

<Table 1.1 Test Case Identification>

Test Case Identifier

Input Specification

Output Specification

PTS_UTC_1200_000

File!=NULL/
>CID==temp_card_info-
>CID

card_Info-

Card_info& card_Reader_1.txt0
£t

PTS_UTC_1200_001

Filel=NULL/

card_Info>CID!=temp_card_

info->CID

stat = Invalidlnput;
card_infoQ| & 022

X7|3}A|ZIC}.

PTS_UTC_1200_002

File==Null

printf("mIto| ei&LCt. mpY

7| Hif#n")

PTS_UTC_2111_000

stat==Normal

ErordALE A™dstL 7t48 M

et

PTS_UTC_2111_001

stat!'=Normal

PTS_UTC_2112_000

interval_sec <=0

interval_sec += 60;

PTS_UTC_2112_001

state==1/interval_sec<15/g
etout==0/CRID==card_info

interval_sec += 60;
stat = HoplnProcessing;
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->CRID

PTS_UTC 2112 002 state==1/interval sec>=15 | StatQ| Zt2 BZA|7|X| Y=L},
/getout==0/CRID==card_in
fo->CRID

PTS_UTC_2112_003 state==1/interval_sec<15/g | StatQ| {2 HZA|7|X| &Lt
etout!=0/CRID==card_info-
>CRID

PTS_UTC_2112_004 state==1/interval_sec<15/g | StatQ| {2 HZA|7|X| &Lt
etout==0/CRID!=card_info-
>CRID

PTS_UTC_ 2112 005 state==1/interval_sec<15/g | StatQ| #t2 WHZAA|7|X| Y=Lt
etout!=0/CRID!=card_info-
>CRID

PTS_UTC 2112 006 state==1/interval_sec>=15 | StatQ| Zt2 BZA|7|X| Y=L},
/getout!=0/CRID==card_inf
o->CRID

PTS_UTC 2112 007 state==1/interval_sec>=15 | Stato| Z{& BIZA[7|X| Z&rt.
/getout==0/CRID!=card_inf
o->CRID

PTS_UTC_2112_008 state==1/interval_sec>=15 | Stato| Zt& BIZA[7|X| Z&rt.
/getout!=0/CRID!=card_inf
o->CRID

PTS_UTC 2112 009 state==0/interval_sec<15/g | stat = GetOffProcessing;
etout==0/CRID==card_info
->CRID

PTS_UTC 2112 010 state==0/interval_sec>=15 | Stato| Zt& BIZA[7|X| Z&rt.
/getout==0/CRID==card_in
fo->CRID

PTS_UTC_2112_011 state==0/interval_sec<15/g | StatQ| {2 HZA|7|X| &Lt
etout!=0/CRID==card_info-
>CRID

PTS_UTC 2112 012 state==0/interval_sec<15/g | StatQ| #t2 WHZAA|7|X| Y=Lt
etout==0/CRID!=card_info-
>CRID

PTS_UTC 2112 013 state==0/interval_sec<15/g | StatQ| #t2 HZA|7|X| Y=Lt
etout!=0/CRID!=card_info-
>CRID

PTS_UTC 2112 014 state==0/interval_sec>=15 | Stato| Zt& BZA[7|X| Z&rt.
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/getout!=0/CRID==card_inf
o->CRID

PTS_UTC_2112_015

state==0/interval_sec>=15
/getout==0/CRID!=card_inf
o->CRID

Stato| @t= HEAIZ|X e

PTS_UTC_2112 0Ole

state==0/interval_sec>=15
/getout!=0/CRID!=card_inf
o->CRID

Stato] g2 WIZAIZIR et

PTS_UTC_2113_000

interval_sec <=0

interval_sec += 60 * 60

PTS_UTC_2113_001 CRID < 10 tp = 0;
PTS_UTC_2113_002 CRID >= 10 tp = 1;
PTS_UTC _2113_003 (CRID%10) == 1 / state == | price = 1650
1/ transfer ==1/tp ==
PTS_UTC_2113_004 (CRID%10) == 1 / state == | price = 1550
1/transfer ==1/tp==0
PTS_UTC_2113_005 (CRID%10) == 1/ state == | Error =&
1/transfer==1/tp!=1
/tp!=0
PTS_UTC 2113 _006 (CRID%10) == 1 / state == | price = 1250
1/ transfer == 0/ tp ==
PTS_UTC 2113_007 (CRID%10) == 1 / state == | price = 1050
1/ transfer == 0/ tp ==
PTS_UTC 2113 008 (CRID%10) == 1 / state == | Error =&
1/transfer ==0/tp!=1
/tp!=0
PTS_UTC_2113_009 (CRID%10) == 1 / state == | Error =&
1 / transfer = 0 /
transfer |= 1
PTS_UTC 2113 010 (CRID%10) == 1 / state == | price = 1050
0 / transfer == 0/
interval_sec <= 15/tp ==
card_info->tp
PTS_UTC 2113 011 (CRID%10) == 1 / state == | price = 600
0 / transfer == 0/
interval_sec <= 15/ tp ==
1/ card_info->tp == 0
PTS_UTC_2113_012 (CRID%10) == 1 / state == price = 500

0 / transfer == 0/
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interval_sec <= 15 && tp
== 0 && card_info->tp ==

1
PTS_UTC 2113 013 (CRID%10) == 1 / state == | Error =&
0 / transfer == 0 /
interval_sec <= 15 / tp !=
0/ tp != 1 / card_info-
>tp |= 0 / card_info->tp !=
1
PTS_UTC_2113_014 (CRID%10) == 1 / state == | price = 1050
0 / transfer == 0/
interval_sec > 15
PTS_UTC 2113 015 (CRID%10) == 1 / state == | Error=&
0 / transfer I= 0
PTS_UTC 2113 016 (CRID%10) == 0 / state == | price = 300
1/ transfer == 1 / tp ==
/ interval_station == 1 ||
interval_station == 4
PTS_UTC_2113_017 (CRID%10) == 0 / state == | price = 600
1/transfer==1/tp==1
/ interval_station == 2 ||
interval_station == 3
PTS_UTC 2113 018 (CRID%10) == 0 / state == | price =0
1/transfer==1/tp==1
/ interval_station < 1 ||
interval_station > 4
PTS_UTC 2113 019 (CRID%10) == 0 / state == | price = 500
1/ transfer ==1/tp ==
/ (interval_sec/30) > 5
PTS_UTC 2113_020 (CRID%10) == 0 / state == | price = interval_sec / 30 * 100
1/transfer==1/tp==0
/ (interval_sec/30) <=5
PTS_UTC_2113_021 (CRID%10) == 0 / state == | Error =&
1/transfer==1/tp!=0
/tpl=1
PTS_UTC 2113022 (CRID%10) == 0 / state == | price = 0

1/ transfer == 0 / tp ==

/ interval_station == 1 ||
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interval_station ==

PTS_UTC 2113 023 (CRID%10) == 0 / state == | price = 200
1/transfer==0/tp==1
/ interval_station == 2 ||
interval_station == 3

PTS_UTC_2113_024 (CRID%10) == 0 / state == | price = 0
1/transfer==0/tp==1
/ interval_station < 1 ||
interval_station > 4

PTS_UTC 2113_025 (CRID%10) == 0 / state == | price = 0

1/ transfer == 0/ tp ==

PTS_UTC_2113_026

(CRID%10) == 0 / state ==
1/transfer==0/tp!=1
/tp!=0

>0
Error =&

PTS_UTC_2113_027

(CRID%10) == 0 / state !=
1

==
Error =&

PTS_UTC_2113_028 (CRID%10)!'=0/ Error =&
(CRID%10) '=1
PTS_UTC 2121 000 stat == Normal Short)= =

PTS_UTC_2121_001

Short() / stat == Normal

Calculation)z=

PTS_UTC_2122_000

(card_info->cash-price) < 0

stat = EShort

PTS_UTC_2122_000

CRID < 10

tp=0

PTS_UTC_2123_001

CRID >=10

tp=1

PTS_UTC_2123_002

card_info->transfer == 0

card_info->cash -= price

PTS_UTC_2123_003

(CRID%10) == 0

card_info->state = 0

PTS_UTC_2123_004

(CRID%10) 1= 0

card_info->state = 1

PTS_UTC_2130_000

stat == Normal

CardUpdate(),

CardReaderRecord() ==

PTS_UTC_2140_000 | stat == Normal / transfer | 0, cash =&

==1
PTS_UTC 2140 001 stat == Normal / | price, cash &=

transfer I= 1
PTS_UTC_2140_002 stat == HopnInProcessing ErrorHA|X] ==
PTS_UTC 2140 003 stat == GetoffProcessing ErrorHA|X] ==
PTS_UTC_2140_004 stat == EShort ErrorfA|X| &
PTS_UTC_2140_005 stat == NotAddjust ErrorA|X| ==
PTS_UTC_2140_006 stat == InvalidInput ErrorH|A|X| ==
PTS_UTC_2150_000 file 'I= NULL / newFile != newFile0f| updateZl card_infoE
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NULL / feof(file) == false /
CID == fileCID

PTS_UTC_2150_001

CID == fileCID

file 1= NULL / newFile !=
NULL / feof(file) == false /

PTS_UTC_2160_000

file I= NULL

card_info&  card_Reader_1.txt0j|

Lt

2.1.2 Recharger System

<Table 2.1 Test Case Identification>

Test Case Input specification Output specification
Identifier
PTS_UTC_120_000 | CID=1000 / card_info={CID=1000, CRID=11,
if(file 1= NULL) tagTime={2014, 11, 20, 19, 52, 18}, tp=1,
state=1, cash=30900, transfer=0, getout=1}
PTS_UTC_120_001 | CID=100 / card_info={CID=0, CRID=0,
if(file 1= NULL) tagTime={?, ?, ?, ?, ?, 7}, tp=0, state=0, cash=0,
transfer=0, getout=0}
PTS_UTC_120_002 | if(file == NULL) "mfo| gl&L|ch oY 7| Aoy
exit(1);exit(1);
PTS_UTC 211 000 | CID=1000 / card_info.cash+=money / trigger “Update”/
money=20000 trigger "Display”
PTS_UTC 211 001 | CID=100 / card_info.cash+=money / trigger "Update”/

money=20000

trigger "Display”

PTS_UTC_212_000

card_info={CID=1000,
CRID=11,

tagTime={2014, 11, 20,
19, 52, 18}, tp=1,
state=1, cash=50900,
transfer=0, getout=1}

fprintf(newfFile, "....", card_info->CID, ....

card_info->getout);0| otH =2

PTS_UTC_212 001

card_info={CID=0,
CRID=0,
tagTime={?, 7,7, 7,7, 7},

tp=0, state=0, cash=0,

fprintf(newFile, "...",  card_info->CID,

card_info->getout);0| $tHE £ E|X| 23t
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transfer=0, getout=0}
PTS_UTC_212.002 | if(file == NULL) ‘Mol SlaL|ch mY Y| Almf”
exit(1);
PTS_UTC_213_000 | card_info={CID=1000, "S™ sE AlZb 20143 118 21 03A] 16
CRID=11, 2 44x"
tagTime={2014, 11, 20, | "7 Fo| 24 : 30900&"
19, 52, 18}, tp=1l |"S™ s ZAH : 20000
state=1, cash=50900, | "=X™ ZFo| 2 : 50900&"
transfer=0, getout=1}
/ money=20000
PTS_UTC_213_001 | card_info={CID=0, =M™ sk AlZF 20143 11g 212 03A] 16
CRID=0, &2 44x
tagTime={?, 2,2, 2,2, 7, | "&7 Fo| 24 : 0&"
tp=0, state=0, cash=0, | "&S7% st ZA :20000L"
transfer=0, getout=0} =™ Zo| F : 20000¥!"
/ money=20000
2.1.3 Fee Calculation System
<Table 3.1 Test Case Identification>
Test Case Input Specification Output Specification
Identifier
FCS.UTC.010.000 | Tick()==0/ *.txt(EFZF7])!=NULL fscanf(, ,&CardReader _infoli].CID,,,,...)
FCS.UTC.010.001 | Tick()==0/ *.txt(Et27])==NULL
FCS.UTC.010.002 | Tick()==1/ *.txt(Tt27])!=NULL
FCS.UTC.010.003 | Tick()==1/ *.txt(Et27])==NULL
FCS.UTC.010.004 | CardReader _infoli].CID==1000 fprint(file_CID_1000 , ,CardReader_infol[i].CID,,,...)
FCS.UTC.010.005 | CardReader_infol[i].CID==1001 fprint(file_CID_1001, ,CardReader_info[i].CID,,,,,,,)
FCS.UTC.010.006 | CardReader_infol[i].CID==1002 fprint(file_CID_1002, ,CardReader_info[i].CID,,,,.,,)
FCS.UTC.010.007 | CardReader_info[i].CID==1003 fprint(file_CID_1003, ,CardReader_info[i].CID,,,,,,,)
FCS.UTC.010.008 | CardReader_infol[i].CID==1004 fprint(file_CID_1004, ,CardReader_info[i].CID,,,,,,,)
FCS.UTC.010.009 | CardReader_infol[i].CID==1005 fprint(file_CID_1005, ,CardReader_info[i].CID,,,,,,,)
FCS.UTC.010.010 | CardReader_infoli].CID==1006 fprint(file_CID_1006, ,CardReader_info[i].CID,,,,,,,)
FCS.UTC.010.011 | CardReader_info[i].CID>1006 ||
CardReader_info[i].CID<1000
FCS.UTC.021.000 | AdjustStart() c_well=1
FCS.UTC.021.001 | 'AdjustStart() c_well=1
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FCS.UTC.021.002 | CardReader _infoli].state== CardReader_info[i].getout=1
FCS.UTC.021.003 | CardReader _info[i].state==1 CardReader_info[i].getout=0
FCS.UTC.021.004 | CardReader_info[i].state==0 CardReader_info[i].getout=1
FCS.UTC.021.005 | CID_Sort()/CID_*.txt !=NULL fscanf(CID_*.txt, temp_CardReader_info[i].CID,,,)
FCS.UTC.021.006 | CID_Sort()/CID_*.txt ==NULL
FCS.UTC.021.007 | CID_Sort()/temp_CardReader_info[i]!=NULL | real_CardReader_info[i]=temp_CardReader_infol[j]
&temp_CardReader_infolil.tagTime2t2 =
o=
FCS.UTC.021.008 | CID_Sort()/temp_CardReader_info[i]l==NULL
&temp_CardReader_info[i].tagTime&t2 &=
o=
FCS.UTC.021.009 | real_CarfReader_info!=NULL,  line!l=NULL, | Adjust();
&bus_fee!l=NULL, &metro_fee!=NULL
FCS.UTC.021.010 | real_CarfReader_info==NULL || line==NULL
|| &bus_fee==NULL || &metro_fee==NULL
FCS.UTC.021.011 | i>0, real_CardReader_info[i].price>1050 real_Card_infoli].price += real_Card_infol[i].price-
1050,
real_Card_info[i].price-=1050.
FCS.UTC.021.012 | i<=0 || real_CardReader_infol[i].price<=1050 | real_Card_info[i].price += real_Card_infol[i].price-
1050,
real_Card_infoli].price-=1050.
FCS.UTC.021.013 | Index=size-1; index=i-1;
for(i=size-1;i>=0;i--)
if((real_card_info[i].state==1)&&
(real_card_info[i].transfer==0))
FCS.UTC.021.014 | Index=size-1;
for(i=size-1;i>=0;i--)
if((real_card_info[i].state!=1)||
(real_card_info[i].transfer!=0))
FCS.UTC.021.016 | Index=size-1; real_fee+=real_card_info[j].price
for(i=size-1;i>=0;i--)
{
if((real_card_infol[i].state==1)&&
(real_card_info[i].transfer==0))
{
for(j=index;j>=i;j--}
FCS.UTC.021.017 | Index==NULL real_fee+= real_CardReader_infol[i].price
FCS.UTC.021.018 | real_CardReader_info[i-1].tp != total_fee+=real_fee

Team 3
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real_CardReader_infol[i].tp

FCS.UTC.021.019 | real_CardReader_info[i-1].tp == total_fee+=real _fee
real_CardReader_info[i].tp
FCS.UTC.021.020 | Index=size-1; temp_fee+=real_CardReader_infol[i].price
for(i=size-1;i>=0;i--)
{
if((real_card_info[i].state==1)&&
(real_card_info[i].transfer==0))
{
for(j=index;j> =i;j--){
FCS.UTC.021.021 | index==NULL temp_fee+=real_CardReader_info[i].price
FCS.UTC.021.022 | if(j==i || (real_card_info[j-1].tp *bus_fee+=temp_fee/total_fee*real_fee
I=real_card_info[j].tp)){
if(real_card_info[j].tp==0)
FCS.UTC.021.023 | if(j!=i || (real_card_info[j-1].tp *bus_fee+=temp_fee/total_fee*real_fee
==real_card_info[j].tp)){
if(real_card_info[j].tp==0)
FCS.UTC.021.024 | if(j==i || (real_card_info[j-1].tp AdjustEf Y O, ((real_CardReader_infoli-
I=real_card_info[]j].tp)){ 1].tp !=real_CardReader_infolil.tp) || i==0),
if(real_card_info[jl.tp==1) real_CardReader_infol[i].tp==10| ™
*metro_fee+=temp_fee/total_fee*real_feeE =+
sht.
FCS.UTC.021.025 | if(j!'=i || (real_card_info[j-1].tp *metro_fee+=temp_fee/total_fee*real_fee
==real_card_info[j].tp)){
if(real_card_info[j].tp==1)
FCS.UTC.021.026 | Index=size-1; index=i-1, total_feee=0, real_fee=0, temp_fee=0
for(i=size-1;i>=0;i--)
{
if((real_card_infol[i].state==1)&&
(real_card_info[i].transfer==0))
{
for(j=index; j>=i; j--){}
}
FCS.UTC.021.027 | If& &L+ C}=20| ofdmy index=i-1, total_feee=0, real_fee=0, temp_fee=0
FCS.UTC.021.028 | bus_feel=NULL, metro_fee!l=NULL c_well=0
FCS.UTC.021.029 | bus_fee==NULL, metro_fee==NULL c_well=0
FCS.UTC.021.029 | c_well==0 enable Display.

Team 3
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FCS.UTC.021.030 | c_well!'=0 enable Display.

FCS.UTC.021.031 | c_well==0 Trigger Send

FCS.UTC.021.032 | c_well!=0 Trigger Send

FCS.UTC.021.033 | c_well==0 Trigger Reset

FCS.UTC.021.034 | c_well!=0 Trigger Reset

FCS.UTC.022.000 | Enable/c_well==0 printf("EH A A A ZH: %d¥n" bus_fee);
printf("X| S} HAH A %dWn", metro_fee);

FCS.UTC.022.001 | Enable/c_well== printf("H A HA ZH: %dWn" bus_fee);
printf("X| 51 HAL ZH: %d¥n", metro_fee);

FCS.UTC.022.002 | c_well!=0

FCS.UTC.023.000 | Trigger/c_well==0 file_bus=fopen("send_bus.txt","w");
fprintf(file_bus,"%d¥n",c_well);
fprintf(file_bus," & A= AH: %d¥n" bus_fee);
file_metro=fopen("send_metro.txt","w");
fprintf(file_metro,"%d¥n",c_well);
fprintf(file_metro,"& HA=2H: %d", metro_fee);

FCS.UTC.023.001 | Trigger/c_well==0 file_bus=fopen("send_bus.txt","w");
fprintf(file_bus,"%d¥#n",c_well);
fprintf(file_bus," ™ At=2H: %dWn",bus_fee);
file_metro=fopen("send_metro.txt","w");
fprintf(file_metro,"%d¥tn",c_well);
fprintf(file_metro,"& HAtEH: %d" metro_fee);

FCS.UTC.023.002 | c_well!=0

FCS.UTC.024.000 | Trigger/c_well==0 remove(fname);
rename("temp.txt",fname);

FCS.UTC.024.001 | Trigger/c_well== remove(fname);
rename("temp.txt",fname);

FCS.UTC.024.002 | c_well!=0

2.2 Test items

2.2.1 Public Transportation System

<Table 1.2 Test Design Identification>

Team 3
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Identifier

Feature

Valid/Invalid Value

PTS_UTC_1200_000

1.2 Card Info Loader

File!l=NULL MEH{OIlA Rzt card infoo| 22O

soject,

PTS_UTC_1200_001

1.2 Card Info Loader

Filel=NULL R%8lX| &2 card_infoo| YHO| =

Of 2Lt

PTS_UTC_1200_002

1.2 Card Info Loader

File==NULL®Ol 20| E0{&LC}.
PTS_UTC 2111 000 | 2.1.1.1 Catch Error | card_infoQ| Zrat M40l price| Zfat
Controller stat==NormalQl &0| S0{2LC}
PTS_UTC 2111 001 | 2.1.1.1 Catch Error | card_infoQ| Zrat M40l price| Zfat
Controller stat!l=Normal @l /20| S0{2LCt

PTS_UTC 2112 000 | 2.1.1.2 Error interval_sec <=0 @l 20| E0{&LC}

PTS_UTC 2112 001 | 2.1.1.2 Error state==1,interval_sec<15,getout==00|1  CRID9|
20| card_infoo| CRIDQ| Zi1} &2 =0 &9
ert

PTS_UTC_2112_002 | 2.1.1.2 Error state==1,interval_sec>=15,getout==00| 11 CRIDZ|
Zr0| card_infoQ| CRIDQ| Zint 22 0| E0
et

PTS_UTC_2112_003 | 2.1.1.2 Error state==1,interval_sec<15,getout!=00|11  CRIDZ|
20| card_infoQ| CRIDO| Ztat &2 Q=0 &9
=Lt

PTS_UTC 2112 004 | 2.1.1.2 Error state==1,interval_sec<15,getout==00|1  CRID9|
20| card_info®| CRIDQ| Zi1} CtE =0 &0
ert

PTS_UTC 2112 005 | 2.1.1.2 Error state==1,interval_sec<15,getout!=00|1  CRID9|
20| card_infoo| CRIDQ| Zt1} CtE =0 &0
2L}

PTS_UTC_2112_006 | 2.1.1.2 Error state==1,interval_sec>=15,getout!=00| 11 CRIDZ|
Z40| card_infoo| CRIDQ| Ztit Z2 Q20| £0f

et

PTS_UTC_2112_007 | 2.1.1.2 Error state==1,interval_sec>=15,getout==00| 11 CRIDZ|
2f0| card_infoQ| CRIDO| Ziut CHE QA0 509
2L}

PTS_UTC 2112 008 | 2.1.1.2 Error state==1,interval_sec>=15,getout!=00| 1 CRID9|
40| card_infoQ| CRIDQ| Zfif Ct=E =0| 50

2L}

PTS_UTC_2112_009 | 2.1.1.2 Error

state==0,interval_sec<15,getout==00|1  CRID9|
20| card_infoo| CRIDO| Zii1} &2 =0 &9

=Ct.
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PTS_UTC 2112 010 | 2.1.1.2 Error state==0,interval_sec>=15,getout==00|2 CRID9|
Z¥0| card_infoQ| CRIDO| Zfu} & {=H0o| &0
ert

PTS_UTC 2112 011 | 2.1.1.2 Error state==0,interval_sec<15,getout!=00|1  CRID9|
Zr0| card_infoQ| CRIDQ| Zint &2 =0 E0]
=Lt

PTS_UTC_ 2112012 | 2.1.1.2 Error state==0,interval_sec<15,getout==00|11  CRIDZ|
Z¥0| card_infoo| CRIDO| Zrnt CIE HO| &9
ert

PTS_UTC 2112 013 | 2.1.1.2 Error state==0,interval_sec<15,getout!=00|1  CRID9|
20| card_info®| CRIDQ| Zt1} CtE =0 &0
ert

PTS_UTC 2112 014 | 2.1.1.2 Error state==0,interval_sec>=15,getout!=00|2 CRID9|
Z40| card_infoo| CRIDQ| Zt1} Z+e 20| £0]
2L}

PTS_UTC_2112_015 | 2.1.1.2 Error state==0,interval_sec>=15,getout==00| 11 CRIDZ|
2f0| card_infoQ| CRIDO| Ziut CHE QA0 509
=Lt

PTS_UTC_ 2112 016 | 2.1.1.2 Error state==0,interval_sec>=15,getout!=00| 11 CRIDZ|

2f0| card_infoQ| CRIDO| Ziut CHE QA0 509

=Ct.

PTS_UTC 2113 000 | 2.1.1.3 FixPrice interval_sec <= 09l ¢3& ES0{&Ct
PTS_UTC_2113_001 | 2.1.1.3 FixPrice CRID < 109l =0 S0{=LCt
PTS_UTC_2113.002 | 2.1.1.3 FixPrice CRID >=109Q 30| SO{2Ct
PTS_UTC_2113_.003 | 2.1.1.3 FixPrice (CRID%10) == 1 AE QA state == 1 &&
transfer == 1 && tp == 10|LC}.
PTS_UTC_2113_.004 | 2.1.1.3 FixPrice (CRID%10) == 1 AE QA state == 1 &&
transfer == 1 && tp == 00|LC}.
PTS_UTC_2113_005 | 2.1.1.3 FixPrice (CRID%10) == 1 AE QA state == 1 &&
transfer == 1 && tp != 1 && tp != 00|LC}.
PTS_UTC_2113_006 | 2.1.1.3 FixPrice (CRID%10) == 1 AMEHO|A state == 1 &&
transfer == 0 && tp == 10|LC}.
PTS_UTC_2113_007 | 2.1.1.3 FixPrice (CRID%10) == 1 AMEHO|A state == 1 &&
transfer == 0 && tp == 00|LC}.
PTS_UTC_2113_008 | 2.1.1.3 FixPrice (CRID%10) == 1 AE QA state == 1 &&
transfer == 0 && tp != 1 && tp != 00|LC}.
PTS_UTC_2113.009 | 2.1.1.3 FixPrice (CRID%10) == 1 AE QA state == 1 &&

transfer != 0 && transfer != 10|LC}.
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PTS_UTC_2113_010 | 2.1.1.3 FixPrice (CRID%10) == 1 AMEHO|A state == 0 &&
transfer == 0 && interval_sec <= 15 && tp ==
card_info->tpO|C}.

PTS_UTC_2113_011 | 21.1.3 FixPrice (CRID%10) == 1 AEHO|A state == &&

transfer == 0 && interval_sec <= 15 && tp ==1
&8& card_info->tp == 0O|LC}.

PTS_UTC_ 2113 012

21.13 FixPrice

(CRID%10) == 1 AE{O|Al state = &
transfer == 0 && interval_sec <= 15 && tp == 0
&8& card_info->tp == 10|LC}.

&

PTS_UTC_2113_013

2113 FixPrice

(CRID%10) == 1 AEJO|A state == 0 &&
transfer == 0 && interval_sec <= 15 && tp '= 0
&8& tp != 1 && card_info->tp !'= 0 && card_info-

>tp != 10|C}.

PTS_UTC_2113_ 014 | 2.1.13 FixPrice (CRID%10) == 1 AMEHO|A| state == 0 &&
transfer == 0 && interval_sec > 15

PTS_UTC_2113_015 | 2.1.1.3 FixPrice (CRID%10) == 1 AEHO|A state == 0 &&
transfer 1= 0

PTS_UTC_2113.016 | 2.1.1.3 FixPrice (CRID%10) == 0 MEHO|A state == 1 &&

transfer == 1 && tp == 1 O|HA interval_station
7t 1 £ 40|Ct.

PTS_UTC_2113_017

2113 FixPrice

(CRID%10) == 0 AEHOJA{ state == 1 &&
transfer == 1 && tp == 1 O|H A interval_station
7} 2 == 30|C}

PTS_UTC_2113_018

2113 FixPrice

(CRID%10) == 0 AEJO|A state == 1 &&
transfer == 1 && tp == 1 O|HA] interval_station
7} 1~47} ofL|Ch

PTS_UTC_2113_ 019 | 21.1.3 FixPrice (CRID%10) == 0 MEHOJA state == 1 &&
transfer == 1 && tp == 0 O|HN
(interval_sec/30) > 50|C}.

PTS_UTC_2113_020 | 2.1.1.3 FixPrice (CRID%10) == 0 MEHOA state == 1 &&
transfer == 1 && tp == 0 O|HN
(interval_sec/30) <= 50|LC}.

PTS_UTC_2113_021 | 2.1.1.3 FixPrice (CRID%10) == 0 AMEHO|A state == 1 &&

transfer == 1 && tp != 0 && tp != 10|LC}.

PTS_UTC_2113_022

2113 FixPrice

PTS_UTC_2113_021  (CRID%10) == 0 ArEHOf|A
state == 1 && transfer == 0 && tp == 1 O|HA]

interval_station7} 1 EE= 40|C}.

PTS_UTC_2113_023

21.13 FixPrice

(CRID%10) == 0 AMEHOJA] state == 1 &&
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transfer == 0 && tp == 1 O|HA] interval_station
7} 2 EE&= 30|C}

PTS_UTC_2113_024

2113 FixPrice

(CRID%10) == 0 AERO||A] 1 &&
transfer == 0 && tp == 1 O|HA] interval_station
7} 1~47} ofL|C}.

state

PTS_UTC_2113_025 | 2.1.1.3 FixPrice (CRID%10) == 0 MEHO|A state == 1 &&
transfer == 0 && tp == 0 O|LC}.
PTS_UTC_2113.026 | 2.1.1.3 FixPrice (CRID%10) == 0 MEHO|A state == 1 &&
transfer == 0 && tp I= 1 && tp != 0 O|LC}.
PTS_UTC_2113_027 | 2113 FixPrice (CRID%10) == 0 AFEjOJA{ state != 1 O|LC}.
PTS_UTC_2113_028 | 2.1.1.3 FixPrice (CRID%10) !'= 0 && (CRID%10) != 1 o|LC}.
PTS_UTC_2121_000 | 2.1.2.1 Money Check | stat == NormalO|LC}.
Controller
PTS_UTC_2121 001 | 2.1.2.1 Money Check | Short2& = stat == NormalO|LC}.
Controller
PTS_UTC_2122_000 | 2.1.2.2 Short (cash-price) < 0 O|LC}.
PTS_UTC_2122 00 | 2.1.2.3 Calculation CRID < 10 30| So{2rC}
0
PTS_UTC 2123 001 | 2.1.2.3 Calculation CRID >= 10 4}0| E0{2LC}.
PTS_UTC 2123 002 | 2.1.2.3 Calculation FIEO0| MZEEl transfergtO| 00|LCt.
PTS_UTC_2123_003 | 2.1.2.3 Calculation (CRID%10)==00| C}.
PTS_UTC_2123_004 | 2.1.2.3 Calculation (CRID%10)!=00| C}.
PTS_UTC 2130_000 | 2.1.3 Payment | stat == Normal £}0| =0{ 2Lt
Controller
PTS_UTC_2140_000 | 2.1.4 Result stat == Normal && transfer == 19| Zt0] S0{2
C}.
PTS_UTC_2140_001 | 2.1.4 Result Normal && transfer |= 12| Zf0| S0{2LCt.
PTS_UTC 2140 002 | 2.1.4 Result stat == HoplnProcessing 4{0| S0{2LC}
PTS_UTC 2140 003 | 2.1.4 Result stat == GetoffProcessing 40| =0{2LC}.
PTS_UTC_2140_004 | 2.1.4 Result stat == EShort 4t0| E0{2LCt
PTS_UTC_2140_005 | 2.1.4 Result stat == NotAddjust 70| S0{2C}.
PTS_UTC_2140_006 | 2.1.4 Result stat == Invalidlnput Zt0| S0{2LCt.

PTS_UTC_2150_000

2.1.5 Card update

file |I= NULL && newFile '= NULL && feof(file)
== false AEfOA| CID == fileCID Z'0| SO{&L}.

PTS_UTC_2150_001

2.1.5 Card update

file |I= NULL && newFile = NULL && feof(file)
== false AEJO|A CID != fileCID Z}0| E0{2LC}

PTS_UTC_2160_000

216 Card Reader

Record

file I= NULL O|C}.
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2.2.2 Recharger System

T3-2014-PTS-UTR-1.0

<Table 2.2 Test Design Identification>

Identifier

Feature

Valid/Invalid Value

PTS_UTC_120_000

1.2 Card Info Loader

CardtxtmAdS FOf YHL2 CIDZO| A= &
= |

= 33, #Hoe

r
N
[N
lor
oz
T
i
H
<
I3
Ho
_('_l_

PTS_UTC_120_001

1.2 Card Info Loader

Card.txtote &

A
=
= A, AX| Z5HH 7t

=Lt

PTS_UTC_120_002

1.2 Card Info Loader

o
obt
HU

il

PTS_UTC_211_000

211 Recharger

Controller
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Controller
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ot
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nt
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Bk, Card.txtIot & ol A
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>
N
=
oot
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oy —
g5
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od -
HL
ujn

Monitor0j

HL
M
il

PTS_UTC_212_000

2.1.2. Update

o
nk
rlo
oft
=
mot

M 1% | Hu
n|
rot

A FtEQ| THoH=
= BtOtA|, Card.txtmt ot
newCard.txtotd & Y2 =, Card.txtmofA,
Y2 CIDgLo] A= ZO0|H TS 7I=H
newCard.txt0]| 7|E5t1, CtE CIDZf0|
O|H ZCHE newCard.txt0] 7| EStLC}.

, Carditxt I}QE X AHdt1D, newCard.txtQ]

Card.txt2 HZAsIC}

N
N
10
oA
HL
I
o
o
|

n

rr
ny

S o

PTS_UTC_212_001

2.1.2. Update

oot o ot

ik
rot | mjo

CIDZre Q=X 28| A], card_infog}
2 25 Z7|9tet FtEo| FEE YHE
AL, Card.txtm} 0| A{, CIDZIO| 091 =0| gio
02, Cardixtmt o] Z+o|] OCHE newCard.txtOf

mo mjo

N O
[e]
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J|2EHAM MEXMOZ HiRL HEES 9iCt O
=, Carditxt M2 XAk, newCard.txt2| O]
22 Card.txtz2 HZASICH

PTS_UTC_212.002 | 2.1.2. Update Card.txtm} 0| X| &+ AlCHAZ 0| =X§SHA| &
O, Dty AIIE ZS0iN Zzaw
o Z=ECt

PTS_UTC_213_000 | 2.1.3. Display MstsE CIDZHS Q2 HHOFA|, card_infodfS ZAl
ot 20l=, STE FtEQl FER Het 59
= Yy HAS O, sHS A4S Fot = B
Moo A, S8 Ho| g%, 5H o 8% =
M 2o 5US HOjELC,

PTS_UTC_213.001 | 2.1.3. Display HMotoh CIDZrE UubX| 25|, card_infoztS
0ez & X7|3toh 7tETL SHE HEHA F
M3 FUS Y WAS O, N Az 7
o % B1 o A% SH Ho (=08, 5
d 3t 3 W $o| AT ¢ IS
2o &Lt

2.2.3 Fee Calculation System

<Table 1.2 Test Design Identification>

Identifier Feature Valid/Invalid value
FCS.UTC.010.000 | 1 Card Reader Info Loader Tick()==0¥ ), 2+ ct=7| D} 1= NULLO|H ZE Etaty|
u}of CH3Eo] CardReader info!l=NULL 20| S0{2LCt
FCS.UTC.010.001 | 1 Card Reader Info Loader Tick)==0¢ [f, 2F ct2t7| me == NULLO|H B = EFEHY|
otof L3I0 CardReader_info!=NULL /20| &0{&Ct
FCS.UTC.010.002 | 1 Card Reader Info Loader Tick)==1< 0f, 2t ct27| ot = NULLO|H BE= CHEHY|
otof CH3I0] CardReader_info!=NULL Q/210| &0{&Ct
FCS.UTC.010.003 | 1 Card Reader Info Loader Tick()==1< [y, 2+ ct2t7| oY == NULLO|H RE Ctaty|
nhloj| Chstod CardReader_info==NULL /20| S0{&Ct.
FCS.UTC.010.004 | 1 Card Reader Info Loader CardReader_info[i].CID==1000Q [}, CardReader_info[i|&
CID_1000.txt0f| X Z&tstCt.
FCS.UTC.010.005 | 1 Card Reader Info Loader CardReader_info[i].CID==1001Q [}, CardReader_info[i]&
CID_1001.txt0f X{ZEFstCt.
FCS.UTC.010.006 | 1 Card Reader Info Loader CardReader_info[i].CID==1002Q [}, CardReader info[i]&
CID_1002.txt0f X{ZEFstCt.
FCS.UTC.010.007 | 1 Card Reader Info Loader CardReader_info[i].CID==10032! [, CardReader_info[i]&
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CID_1003.txt0f| X ESIC}.

FCS.UTC.010.008 | 1 Card Reader Info Loader CardReader_info[i].CID==1004Q [}, CardReader_info[i|&
CID_1004.txt0f| M ZfStCt.

FCS.UTC.010.009 | 1 Card Reader Info Loader CardReader_info[i].CID==10052! [, CardReader_info[i]&
CID_1005.txt0f| X ZtSHCt.

FCS.UTC.010.010 | 1 Card Reader Info Loader CardReader_info[i].CID==10062! [, CardReader_info[i]&
CID_1006.txt0f| X ZtSHCt.
FCS.UTC.010.011 | 1 Card Reader Info Loader CardReader_info[i].CID==NULLY [, CardReader_info[i]&
CID_*txt0f M & tCh,
FCS.UTC.021.000 | 2.1 Fee Calculation Controller | AdjustStartA&Ef & [Of, c_well==12 | =StC}.
FCS.UTC.021.001 | 2.1 Fee Calculation Controller | AdjustStart&Ef & [f, c_well==0 ¢ =HstC}.
FCS.UTC.021.002 | 2.1 Fee Calculation Controller | GuestOut&Ef & [f, state==10|™ getout==12 Q =HJIC}.
FCS.UTC.021.003 | 2.1 Fee Calculation Controller | GuestOutMEf & [f, state==10|™H getout==02 ¢ =3I}
FCS.UTC.021.004 | 2.1 Fee Calculation Controller | GuestOutAE & [f, state==00|™H getout==12 Q| =H3IC}
FCS.UTC.021.005 | 2.1 Fee Calculation Controller | CID_SortAEj & [jf, CID_*.txt = NULLO|™ CID_*txt O|O|
E{£ CardReader_info H{Eo0f A ZEtSHC}
FCS.UTC.021.006 | 2.1 Fee Calculation Controller | CID_SortXEf & I, CID_*txt == NULLO|H CID_*.txt [|O|
B £ CardReader_info H{ 0| X ZtSHLY.

FCS.UTC.021.007 | 2.1 Fee Calculation Controller | CID_SortXE]f <& [, CardReader_infoHj<€0| '=NULLO|H
tagTimeO| 22 +=9OZ real_CardReader_info H{E 0| X
KBt

FCS.UTC.021.008 | 2.1 Fee Calculation Controller | CID_Sort2Ef @ [, CardReader_infoH{&0| ==NULLO|H
tagTimeO| 22 #+=9=Z real_CardReader_info H{ &0 X
KshLt

FCS.UTC.021.009 | 2.1 Fee Calculation Controller | UnAdjusttEH 2 [, real_CarfReader_info!=NULL,
line!l=NULL, &bus_feel=NULL, &metro_fee!=NULLO|H
AdjustS alott.

FCS.UTC.021.010 | 2.1 Fee Calculation Controller | UnAdjust&teff & [, real_CarfReader_info==NULL ||
line==NULL || &bus_fee==NULL || &metro_fee==NULLO]|
T AdjustE ALY

FCS.UTC.021.011 | 2.1 Fee Calculation Controller | Adjust&rEff & [, i>0, real_CardReader_infol[i].price>1050H
real_Card_info[i].price += real_Card_infol[i].price-1050,
real_Card_info[i].price-=10502 A3t}

FCS.UTC.021.012 | 2.1 Fee Calculation Controller | Adjust&Ef & [f, i>0, real_CardReader_infol[i].price>1050H
real_Card_infoli].price += real_Card_infoli].price-1050,
real_Card_info[i].price-=10502 A&} X| A=LCt

FCS.UTC.021.013 | 2.1 Fee Calculation Controller | Adjustatef € [, H{ES H2)|| HIZS OFX|Eh

||(state==1, transfer==0)0| ™ Lt state==1, transfer==09¢I
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HMIK|E S}AHLt state==1, transfer==0Q1 20| O™ Hj
go| MZO|Lt OX|efo|H XMZOo|Lt OX|HE Fit ALts

g FZh2 FoM indexof B QUEAE Hi=C

LY

FCS.UTC.021.014 | 2.1 Fee Calculation Controller | Adjust&Ef & [, GHIES H2)|| @HIEe 0Orx|eh
||(state==1, transfer==0)0|™ C}& state!=1, transfer!=09Ql
MUK HA AME B 22S HSA indexoll i ol
AZ YHlr}

FCS.UTC.021.015 | 2.1 Fee Calculation Controller | Adjust&tEf Q4 [f, index!=NULLO|™H real_fee+=
real_CardReader_infol[i].priceE 2l $tC}.

FCS.UTC.021.016 | 2.1 Fee Calculation Controller | AdjustAEff & [ff, index==NULLO|™ real_fee+=
real_CardReader_infol[i].priceE =2l StL}.

FCS.UTC.021.017 | 2.1 Fee Calculation Controller | Adjust&Ef & [, real_CardReader_info[i-1].tp !=
real_CardReader_info[i].tpO| ™ total_fee+=real_feeE 3ot
C}.

FCS.UTC.021.018 | 2.1 Fee Calculation Controller | AdjustxEff & [ff, real_CardReader_info[i-1].tp ==
real_CardReader_info[i].tpO| ™ total_fee+=real_feeE 3ot
C}.

FCS.UTC.021.019 | 2.1 Fee Calculation Controller | Adjust&Ef & [, index!=NULLO|™ temp_fee+=
real_CardReader_infol[i].priceE 2l $tC}.

FCS.UTC.021.020 | 2.1 Fee Calculation Controller | Adjust&Ef € [, index==NULLO|™ temp_fee+=
real_CardReader_infol[i].priceE =3l StL}.

FCS.UTC.021.021 | 2.1 Fee Calculation Controller | Adjust&telf & [, ((real_CardReader_info[j-1].tp !=
real_CardReader_info[jl.tp) || i==j),
real_CardReader_info[j].tp==00|H
*bus_fee+=temp_fee/total_fee*real_feeE & SIC}.

FCS.UTC.021.022 | 2.1 Fee Calculation Controller | Adjust&Ef & [f, ((real_CardReader_info[j-1].tp ==
real_CardReader_info[jl.tp) || i'=)),
real_CardReader_info[j].tp==00|H
*bus_fee+=temp_fee/total_fee*real_feeE 2Tt}

FCS.UTC.021.023 | 2.1 Fee Calculation Controller | Adjust&Ef & [f, ((real_CardReader_info[j-1].tp !=
real_CardReader_info[jl.tp) || i==
real_CardReader_info[jl.tp==10|H
*metro_fee+=temp_fee/total_fee*real_feeE & SHC}.

FCS.UTC.021.024 | 2.1 Fee Calculation Controller | AdjustaEff & [ff, ((real_CardReader_info[j-1].tp ==
real_CardReader_info[jl.tp) || i'=j),
real_CardReader_info[jl.tp==10|™

*metro_fee+=temp_fee/total_fee*real_feeE 2l StLCt.

FCS.UTC.021.025 | 2.1 Fee Calculation Controller | Index #7t0| ZL}H, index=i-1, total_feee=0, real_fee=0,
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temp_fee=0E &SI}

FCS.UTC.021.026

2.1 Fee Calculation Controller

Index FZt0| ZLIX] QUOtE, index=i-1, total_feee=0,
real_fee=0, temp_fee=0& 2 StC}.

FCS.UTC.021.027

2.1 Fee Calculation Controller

AdjusMEf 7} ELED, bus_fee!l=NULL, metro_fee!=NULLO|H

c_well=02 gt}

FCS.UTC.021.028

2.1 Fee Calculation Controller

AdjusHEf 7} ELtD, bus_fee==NULL, metro_fee==NULLO]|

M c well=08 =St}

FCS.UTC.021.029 | 2.1 Fee Calculation Controller | c_well==0™ enable Display.

FCS.UTC.021.030 | 2.1 Fee Calculation Controller | c_well!=0™ enable Display.

FCS.UTC.021.031 | 2.1 Fee Calculation Controller | c_well==00|™ Trigger Send

FCS.UTC.021.032 | 2.1 Fee Calculation Controller | c_well!=00|™ Trigger Send

FCS.UTC.021.033 | 2.1 Fee Calculation Controller | c_well==00|™ Trigger Reset

FCS.UTC.021.034 | 2.1 Fee Calculation Controller | c_well!'=00|™ Trigger Reset

FCS.UTC.022.000 | 2.2 Display EnableO] =0{23 c well==00|™H bus_fee, metro_fee,
t_now& printStLt

FCS.UTC.022.001 | 2.2 Display EnableO] =0/ c welll=00|™H bus_fee, metro_fee,
t_nowZ printstC}

FCS.UTC.022.002 | 2.2 Display Enable0|] S0 c_welll=00|H bus_fee, metro_fee,
t_nowE printOtstCt

FCS.UTC.023.000 | 2.3 Send Trigger7t =0{21 c well==00|H c_well, bus_fee,
metro_feeE X|S}H A}, HA S|AMO| ELHCT

FCS.UTC.023.001 | 2.3 Send Trigger?t =0{21  c_well==00|H c_well, bus_fee,
metro_feeE X|SIE 3Z|A}, HA SIALY| EHHCE

FCS.UTC.023.002 | 2.3 Send Trigger?t =021  c_welll=00|H  c_well, bus_fee,
metro_feeS X|SHE 2|Af, M2 S|ARO| QHEEHLY.

FCS.UTC.024.000 | 2.4 Reset Trigger7} £0{21 c_well == 00|H ZE CIL7|OAUS X
7|ststCt.

FCS.UTC.024.001 | 2.4 Reset Trigger7} E0{21 c well != 00| BE CiA7|OAE X
7|gtsict.

FCS.UTC.024.002 | 2.4 Reset Trigger?t 20{2 10 c well != 00|H PE CHU7|OYUS =
7| 2tSHA| R4=Cf.

2.3 Input specifications

2.3.1 Public Transportation System

<Table 1.1 Test Case Identification>%r X
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2.3.2 Recharger System
<Table 2.1 Test Case Identification>%tx
2.3.3 Fee Calculation System
<Table 3.1 Test Case Identification>%t=
24  Output specifications
24.1 Public Transportation System
<Table 1.1 Test Case Identification>%r X
2.4.2 Recharger System
<Table 2.1 Test Case Identification>%r X
243 Fee Calculation System
<Table 3.1 Test Case Identification>%tx
Environmental needs
T3-2014-PTS-UTP-1.0 Environmental needs &= &=
Unit test summary report
4.1 Test summary report identifier

4.1.1 Public Transportation System

LICH. 1050

IEA B3E 40F
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% - Public Tr
b1l = SFAFEEEED
A JED 13

3|01 B

- CRID :
]

4.1.2 Recharger System

cio CRID tagTime tp state cash transfer getout
1oan 11 2014 11 21 6 23 53 1 1 h0900 0O 0
1001 11 2014 11 16 3 13 26 1 1 G250 oo
1002 10 2014 11 38 26 30 0 0 1000 oo
1003 11 2014 11 4 23 30 44 1 1 3450 oo
1004 11 2014 11 4 23 36 52 1 1 28750 0 0
1005 11 2014 11 16 3 13 37 1 1 1veon o
1006 30 2014 11 3 8 27 30 1 0 2oooo o000
1oa7 31 2014 11 3 8 27 45 1 1 20000 1 ]
1008 40 2014 11 3 8 28 0 1 o o000 o1
1009 41 2014 11 3 8 28 15 1 1 0000 1 ]
1010 11 2014 1116 2 19 12 1 1 101250 00 1

SoftwareEngineering Team Project
PTS — Recharger Sys
=2 1D . : 39.384shfh25ngal

D nj3g.3jw.3j008

LIDF? ¥<¥esd>. NCHo> :
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cio CRID tagTime tp state cash transfer getout
1000 11 2014 11 21 6 23 B3 | 1 0900 0 0
100 11 2014 1116 3 13 26 1 1 G260 oo
1002 0 2014 11 382630 0 0O 1000 oo
1003 11 2014 11 4 23 30 44 | 1 8450 0
1004 11 2014 11 4 23 36 52 1 1 28750 0 0
1005 11 2014 11 16 3 13 37 |1 1 17200 0
1006 a0 2014 11 3 8 27 30 1 o 20000 0 0
1007 31 2014 11 3 8 27 45 1 1 zoooo 1 0
1008 40 2014 11 3 8 28 0 1 0 20000 0
1008 41 2014 11 3 8 28 15 1 1 50000 il
1010 11 2014 11 16 2 19 12 1 1 101250 0

Sof twareEngineering Team Project
grch Systeq

? ¥Y<Yes?, N(No> :

ciD CRID tagTime

tp state cash transfer getout
1aaa 11 2004 11 21 6 23 53 | 1 50900 @ 0
1om 1 2004 11 16 3 13 26 |1 1 G250 oo
1onz M0 2004 11 382630 0 0 1000 oo
1003 11 2004 11 4 23 30 44 1 1 2480 a
1004 11 2014 11 4 23 36 52 | 1 28750 0 0
1005 12004 11 16 3 13 37 |1 1 17200 0
1006 300 2014 11 3 8 27 30 1 o zoooo 0O oQ
1oay 31 2014 11 3 8 27 48 1 1 20000 1 a
1008 40 2014 11 38280 1 o 20000 0
1004 41 2014 11 3 8 28 15 1 1 50000 1 a
1o10 11 2004 11 16 2 198 12 | 1 71260 0

SoftwareEngineering Team Project
PTS — Recharger System
2|

e 50515 ]

WE 17E

7 ¥(Yes>, N(MNo> :
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cio CRIDO tagTime tp state cash transfer getout
1000 11 2014 11 21 6 23 B3 | 1 fogon o0 Qd
10 11 2014 11 16 3 13 26 1 1 E250 oo
100z 10 201411 388230 0 0 1000 oo
1003 11 2014 11 4 23 30 44 1 1 8450 o1
1004 11 2014 11 4 23 36 52 1 1 28vs0 0 0
1005 11 2014 11 16 3 13 37 | 1 7200 oo
1006 300 2014 11 3 8 27 30 1 o zooom o0
1007 31 2014 11 3 8 27 4B 1 1 20000 a
1008 40 2014 11 3 8 28 0 1 o zooom oA
1009 41 2014 11 3 8 28 15 1 1 so0on 1 a
1010 11 2014 11 16 2 18 12 1 1 7120 0 1

10888

| 292 308%

¥Y<{¥esd», N(No> :

Cio CRID tagTime

tp state cash  transfer getaout
1000 11 2014 11 21 86 23 53 1 1 30800 0 0
101 11 2014 11 16 3 13 26 1 1 G250 o
1002 10 2014 11 382630 0 0 1000 0o o
1003 11 2014 11 4 23 30 44 1 1 8450 o1
1004 11 2014 11 4 23 36 52 1 1 28vs0 0 0
1005 11 2014 11 16 3 13 37 1 1 7200 o1
1006 a0 2014 11 38 27 300 1 0 oooo o0
1007 31 2014 11 3 8 27 45 1 1 20000 1 0
1008 40 2014 11 3 8 28 0 1 0 20000 0 1
1009 41 2014 11 3 8 28 15 1 1 50000 1 0
1010 11 2014 11 16 2 1912 1 1 71280 0 1

SoftvareEngineering Team Project
PTS — Recharger System

CID : 188A@

¥<Y¥Yes>», N(No>

4.1.3 Fee Calculation System
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BN C¥Windowswsystem32#omd exe

= e CWindowsWsystem Ezmmd.exe

3
i

fname: CID_1888.txt

Bline = 7
Bmetro_fee : 6OO.000008
busz_fee : B.008800

= fname: CID_ 16881 .txt
line = 13

metro_fee @ 1806.6000AAA
hus_fee : B.A0BBAA

fname: CID_1882 _ txt
1line : 13

imetro_fee : 18008.800808
thus_fee : A.000AAA

Hfname: CID_1883.txt
line = 13

imetro_fee : 4200.008080
bus_fee : B.PABBAA

fname: CID_1884.txt
Jline = 13

Imetro_fee : S8A0.ARAGEA
ihus_fee : B.000088

0 = O = o =+ 0 =S o = O = o =

(fname: CID_18@5 . txt
{line : 13

etro_fee : 16450.008800
fhus_fee : B.00BBE6

INfname : CID_1806.txt
yline = 7

metro_fee 18458 . 988988
'Ehus fee
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SRS AloHE M E S Aohd SHE9%A

Clo CRID tagTime tp state price transfer getout
B 1000 11 2014 11 717 20 n 1 100 0 ]
fe 1000 11 2014 11 717 210 0 1] 100 0 ]

1000 11 2014 11 7 17 2 20 1 1 1001 ]

1000 11 2014 11 7 17 2 30 1 1] 100 0 ]

1000 11 2014 11 717 2 40 0O 1 100 0 ]

1000 11 20014 11 717 2 67 0 1] 100 0 ]

: CID_16886. txt

ﬁmetru_fee : 133.333328
dhuz_fee : 466.666656

fname: CID_16881.txt
line = 13

metro_fee = 1333.333252
hus_fee : 466.666656

: CID_1@8@2.txt

0 b
Mmetro_fee : 1333.333252
hus_fee : 466.666656

Mfname: CID_1883.txt
line = 13

Mmetro_fee : 3733.333252
hus_fee : 466.666656

: CID_18@4.txt

0 b
Mmetro_fee : 8333.333008
lhus_fee : 466.666656

: CID_1@85.txt

S0 b
Mmetro_fee : 9983.333008
hus_fee : 466.666656

Mfname: CID_1006.txt

line = 7
Mmetro_fee : 9983.333008
hus_fee : 466.666656

; 23ﬁ4/11/21 B6 :35:83

4.2  Evaluation

Test Tools Ct& & =2t CMDHEO|M Asst= RS5O 2 ™WILICE 2fA Test Tools
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